RIGOUR

U1 MNU 3-03b Homework 5 Level W

Outcome 1 Outcome 2
Multiplying by 10, 100, 1000 Dividing by 10, 100, 1000

P 836 x 10 & 10x4790 & 40-+10 & 800-+10

- 2 x 100 & 100x70 = 300 +100 & 7500 + 100

5 252 x 100 & 100 x 8270 & 7000 =100 & 30500 +100

r 4 6 x 1000 8 1000 x 40 % 6000 + 1000 8 19000 + 1000

= 35x1000 1g 1000 x 499 S 80000+1000 Lg 702000 +1000
Outcome 3 Outcome 4

Multiplying by Multiples of 10, 100, 1000 Dividing by Multiples of 10, 100, 1000

& 40x20 & 60x80 & 5400+ 60 & 32000+ 40

= 200x70 & 30x900 = 4200 + 700 & 1500 = 300

5 b0 x 3000 g 4000 x70 & 44000 =400 & 16 000 = 800

Z 600 x 1100 8 7000 x 700 % 36 000 + 3000 8 24 000 = 6000

8 200x12000 pg 8000 x 8000 S 810000 +9000 1g 250000 +5000
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